


* Hard to measure health traits
 Great influence on the welfare of the animals
» Can cause significant lost for the industry




Selection against high footrot and high
mastitis U
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What if...

?

we add genotypes

SHEE

reference population




*Including DNA: breeding values become

* Animals that had no chance to be phenotyped can
obtain for EBVs...

»..but phenotyped animals also !




FOOTROT

» no phenotype - phenotype available

Heritability 12%

Max change:

« +0.18 with
phenotype
+0.47 no
phenotype
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FOOTROT

» no phenotype - phenotype available

Heritability 12%

Accuracy increased from
0.60 to 0.78
Accuracy increased from o Sat ol - Max Change:
0.20 to 0.67 S e +0.18 with
. phenotype
+0.47 no

phenotype
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CALIFORNIA MASTITIS TEST

- no phenotype - phenotype available

Heritability 7%

Max change:

« +0.30 with
phenotype
+0.52 no
phenotype
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CALIFORNIA MASTITIS TEST

- no phenotype - phenotype available

Heritability 7%

Accuracy increased from

0.43t0 0.73
Accuracy increased from M h .
0.15 to 0.67 axX Change.
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* Footrot and mastitis can do harm to the flock...
»..but animals can be selected for breeding against it.

*If animals are phenotyped and genotyped, then we can
estimate breeding value that is closer to the true breeding
value.

H#phenotypeisking
* Hgenotypeisalsoimportant



Acknowledgement

SHEEP SOCIETY

SMAIl RuminanTs breeding
for Efficiency and Resilience

H 0




